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This paper consists of fifty multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
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Example :
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If you write your Name, Roll Number, Phone Number or
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space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the test question booklet and Original

OMR Sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry

duplicate copy of OMR Sheet on conclusion of examination.
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ADULT EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions, of two (2) marks each. All

questions are compulsory.

The national legal literacy day is
celebrated on

(A) 9™ November
(B) 8™ November
(C) 10" November
(D) 5" November

Right to free and compulsory
elementary education for all children in
the age group of 14 in India was
implemented in the year

(A) 2007
(B) 2010
(C) 2008
(D) 2009

Which of the following programmes

was launched in 1994 with the

objective  of Universalization of

primary education ?

(A) National Adult Education
Programme (NAEP)

(B) District  Primary  Education
Programme (DPEP)

(C) Sarva Shiksha Abhiyan (SSA)

(D) National Literacy Mission
(NLM)

Which of the following programme
was designed to develop effective
linkage between literacy and primary
education ?

(A) Sarva Shiksha Abhiyan (SSA)

(B) National Adult Education
Programme (NAEP)

(C) Jeevanshala
(D) Lokshala

Kalajathas campaign conducted in all
corners of India since 1992 was
organized by

(A) BGVS
B) TAEA
(C) TUACE

(D) None of the above

NEEM stand for
(A) National Extension Education
Movement

(B) National Elementary
Education Mission

(C) National Elementary
Education Movement

(D) None of the above

The first International Conference on
Adult  Education organised by
UNESCO was held in

(A) Tehran

(B) Hamburg

(C) Rio de Jenerio
(D) Kualalampur

The state which has the lowest literacy
rate in India, as per 2001 census is

(A) Bihar

(B) Madhya Pradesh
(C) Tamil Nadu

(D) Orissa

Interpersonal communication is also
known as

(A) Mass communication

(B) Face to face communication
(C) Dyadic communication

(D) Virtual communication
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10.

11.

12.

13.

14.

15.

Who distinguished ‘andragogy’ with
‘pedagogy’ ?

(A) Lindeman

(B) Malcolm Knowles

(C) Alaxander kapp

(D) Richard A. Swanson

Who coined the term ‘extension’ ?
(A) Charles McCarthy

(B) William Sewell

(C) Jensen

(D) Nelson

Which one of the following is not a
component of effective organization ?

(A) Balanced organizational
structure

(B) Adequate delegation of
authority

(C) Clear line of authority
(D) An individual reporting to many
superiors

The term ‘Extension’ is equated with
extra-moral lectures of which
University ?

(A) Cambridge University

(B) Nalanda University

(C) Lisbon University

(D) Harvard University

In a constructive approach teachers
should see themselves as ____ and co-
learners.

(A) Facilitators

(B) Motivators

(C) Promoters

(D) Developers

Kothari Commission (1964-66)

emphasized on

(A) Expansion of Universal
schooling

(B) Non-formal and continuing
education

(C) Vocational education
(D) Reading materials

16.

17.

18.

19.

20.

The programme aimed at enabling
illiterate women to acquire functional

skills, better awareness of health,

hygiene and child care is

(A) National Female Literacy
Mission

(B) Functional Literacy for Adult
Women

(C) Female Farmers Functional

Literacy and Training
(D) Total Literary Programme

The institutions established by the
Ministry of Human  Resource
Development, Government of India in
1989 to provide education
inexpensively to remote areas is

(A) JSS

(B) NIOS
(C) SSA
(D) DIET

In 1952 an important institution was
created in India for furthering the curve
of high education

(A) NCERT
(B) AICTE
(C) NCTE
(D) UGC

Which of the following leader has a
natural ability to attract and inspire
people ?

(A) Visionary leader

(B) Spot leader

(C) Transformational leader

(D) Charismatic leader

Who is identified as the champion of
‘Radical Adult Education’ ?

(A) Maslow

(B) Peter Jarvis
(C) Paulo Friere
(D) John Dewey
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16.

17.

18.

19.

20.
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(A) T

(B) dieX StasT
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21.

22.

23.

Assertion (A) : Non-formal education
is out of school education.

Reason (R) : Non-formal education is
staffed
financially supported like formal

deliberate,  planned,

education and it has valid claim
to reality.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation.

(C) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Assertion (A) Saakshar Bharat
(2009) has been devised as the
new variant of National literacy
Mission.

Reason (R) : A considerable demand
for female literacy is reported by
different stake holder.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Assertion (A) : Friere’s view of social
reality is decidedly non-marxist.

Reason (R) :
social reality is both abstract and

Friere’s analysis of

theoretical.
(A) Both (A) and (R) are true.
(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).
(C©) (A)istrue but (R) is false.
(D) (A)is false but (R) is true.

Paper-1I

24.

25.

26.

Assertion (A) Jana Shikshana
Sansthan are engaged in
promotion of skills of neo-
literates and others.

Reason (R) : Skill development is one
of the key objectives of Saakshar
Bharat Mission.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(C©) (A)istrue and (R) is false.
(D) (A)is false but (R) is true.

Assertion (A) : Non-formal education
improves the participation of
women in development.

Reason (R) : All educational efforts
improves the competency of
individuals.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation.

(©) (A)istrue, (R) is false.

(D) (A)is false, (R) is true.

Assertion (A) : Population education
is intended to develop rational
and responsible altitudes and
behaviours towards population
situation.

Reason (R) : Population studies is
related to family planning
programme.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(C©) (A)istrue and (R) is false.
(D) (A)is false and (R) is true.
J-46-12



21.

22,

23.

FUA (A) : [TEOE W SR Hr [T
T-3Toantee ToreT Biett & |

FROT (R) : -STEn F1em guRiad
ARG =% dfed ST et
% T foxiE w0 9 miNg ue @
& Sieeh AIseyd ¢ |

(A) (A) 3R R) I TAE |

(B) (A) 3R (R) I T &, W] HROT
(R) T&! = e € |

(C) FF (A) TF &, W] BRI (R)
AT |

(D) ®UF (A) ¥WF & U PRI (R)
qIE |

FUT (A) : WRR 9RT (2009) TEE
TRRAT 9 1 & U T uRatad
TE |

HROUT (R) : AfeAAT TERAT B T HA
LT |

(A) (A) AR R)IMATE |

(B) (A) 3 (R) 3F &F & W (R)
FH (A) I el AT Tl ¢ |

(C) HF (A) TF & W] BRI (R)
FEAE |

(D) W (A) 3 &, W] FRUT (R)
qAIE |

FHAT (A) : Y FHI QHEINE ARATSTRAT
et gfesor HAved w9
ATl & |

HRUT (R) : Y H ISR ARATehdT
T TR T € |

(A) (A)TER)INHAAE |

(B) (A) W (R) T T & W (R)
FH (A) I el AT Tl ¢ |

(C) T (A) TF ¢, W FIRU (R)
IIT |

(D) A (A) A &, W] BRI (R)
qIE |
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24.

25.

26.

FHYUF (A) : 5 R0 GIF, T R
FITA S B HE (3T & A
i) A T |

HIOT (R) : “TER 9RA HIT H1 Th qeT
I2Y, A [THE FATE |

(A) (A) T (R) SHI FAE |

(B) (A) W& (R) IHT TF & W] HROT
(R) T2 (A) i &I AR &l & |

(C) FoF (A) ¥ & W] HRU (R)
IIE |

(D) HF (A) A & W= BRI (R)
qIE |

FAT (A) : TR-Sfue e 7 nfgenat
1 Tt BEHA § FEWHT Sgre
g

HRUT (R) ; SI&A(0TH UATq =AferTar sl <eTam
T E |

(A) (A)TE (R) I TAE |

(B) (A) T (R) I e &, T HRU0
(R), T (A) I T&l AT T € |

(C) HF (A) TF & W] BRI (R)
AT |

(D) A (A) A &, W] BRI (R)
JIE |

FUT (A) : SHEE RET H A,
STRIMIHYUT, Tfheh T AR
uRkferfaat =t faeiaa w e |

HROT (R) : SHEET 94, URAR
e sl @ wifia € 1

(A) (A) T R)IAITAE |

(B) (A) W (R) IHI T &, TR BRI
(R) 9 (A) T Tl AR T ¢ |

(C) T (A) TF ¢, W HRU (R)
AT |

(D) T (A) A §, W] HRUT (R)
TIE |

Paper-11



27.

28.

29.

Assertion (A) : Planning, organising,
motivating and controlling are all
functions of management.

Reason (R) Each function of
management is non-interating in
nature.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation.

(C©) (A)istrue and (R) is false.
(D) (A)is false and (R) is true.

Assertion (A) : Agricultural extension
grew because of it’s close

linkage of community with
technology.
Reason (R) : University extension

grew because it is a replica of the
agricultural extension.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(C©) (A)istrue and (R) is false.
(D) (A)is false and (R) is true.

Assertion (A) : Gross enrolment ratio
in higher education is 40% of
total population.

Reason (R) : Census report 2001
reports India’s population
structure as having 69% of it’s
people below the age of 35 years.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(©) (A)istrue and (R) is false.
(D) (A)is false and (R) is true.

Paper-1I

30.

31.

32.

33.

Arrange the following in order they
appeared

(i) Non-formal education

(i1))  Social education

(ii1) Extension education

(iv) Continuing education

Codes :

(A) () @) @) @)

B) ) @@ >Gv) (i)
©) Gv) (i) @) (D)
D) @ Gv) @) (i)

Arrange the stages of communication
in order of best sequence
(i) Encoding

(i) Decoding

(i11) Source

(iv) Receiver

Codes :

(A) () () @) (1)
B) (i) (@v) 1) (i)
©) @) @@ ) @v)
D) @ G (av) (i)

Arrange the following tasks of the
Department of Adult Continuing
education in order in which these were
implemented in Indian Universities

(i)  Erradication of illiterary

(i1)) Field out reach

(iii)) Population education

(iv) Continuing education

Codes :

A () G) Gi) Gv)
B) G ) Gv) @
© @ (@) @) @v)
(D) (@) (@Gv) (@) ()

Arrange the following in correct order
of their implementation

(i) IRDP

(i) MNP

(iii)) Community Development

(iv) Total Literacy Campaign

Codes :

A @ @) () (>Gv)
B) (i) (1) aG) (@1v)
©) @Gy @) @ @A)
(D) () (@) (i) ([Qv)

J-46-12



27.

28.

29.

HT (A) : IS, SIS, IROTeHS
qr o o Wi e &
FIE |

HRUT (R) : VoA § U BT bt Uaq d
TRIgM el gt ¢ |

(A) (A) T R)IAITAE |

(B) (A) T (R) SHI I &, W FRU
(R) T (A) i Tt AT TE € |

(C) ;W(A)WWW(R)W

|

(D) A (A) A &, W] BRI (R)
qIE |

HUT (A) : TEATR B IR & e &
fo P maR fawaa gem & |
Tk & T & HHS T |

FHRUT (R) : fovafoamemi ¥ fawr FEwa
e faeiad gan ¥ it a8 HiT
TGN T & TH ET ¢ |

(A) (A)TH (R) SHI TA E |

(B) (A) T (R) T T & W] FH
(A) T HROT (R) Tel 0T T8 ¢ |

(C) o (A) 99 & W= BRI (R)
AT |

(D) HF (A) A & W BRI (R)
TIE |

FHUAT (A) : I H FA STHAEAT HT B
40 ufqerd wmT & Sea foewm o
TSI BT ¢ |

HRUT (R) : TF 2001 I ST & SFTAR
IR H oI SR &F 6.9% AT
35T YHA AT FHE |

(A) (A)TER)INHAAE |

(B) (A) W& (R) IHT TH &, W] HRIT
(R) T2 (A) i Tt AT TE € |

(C) FF (A) TF ¢, W FRU (R)
AT |

(D) A (A) A &, W] BRI (R)
qIE |
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30.

31.

32.

33.

Tt 1 58 FiRoT HifT

()  IR-3MT=Tes forem

(i) QT forer

(i) TR Torem

(iv) Haq forem

£ T

(A) (i) Gi) @G (v)

B) (i) @ (Gv) (ii)

©) (Gv) (@) @ @)

D) @ Gv) (i) (i)

HEYT & RO HT 37 Y & MR W
o it |

() TRIfET (i) EreifeT
(iii) & (iv) TR

E TR

(A) (i) Gi) (1) (v)

B) (i) Gv) Q) (i)

©) @) @) i) (iv)

D) @) Gi) (v) (ii)

qRAE fovatomreal & Wig 9dd e
formT g7 Tepanifad fafi= sEshaT 1 9
R e |

(i)  FRER S

(i) ies ST T

(i) ST foet

(iv) Haq forem

E TR
A) @
B) (i)

(i) (i) (v)

(i) (v) (@)

© @O @) () @A)

D) @) (@>v) ai) (i)

1 SrEmH % GRareRE % SER W
ST KA FTERoT HI |

(i) oME I, I .

(i) TH. T, .

(iii) TR Tk

(iv) TEIOT QIERET

£ T

(A) () (i) (i) (@)

B) @) (@@ () (iv)

(©) @) @) @) (iv)

D) () @G i) (v)
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34.

3S.

36.

37.

Pick the correct sequence of
implementation of the following
programme :

(i) Mahila Samakhya

(i1) Kasturba Balika Vidyalaya
(ii1) Chipko movement

(iv) Green Revolution

Codes :

A) @Gv) @) (@) (i)

B) Gv) @) @) (i)

©) Gv) @) 1) ()

D) Gv) @G ) @

Choose the correct sequence of
Hierarchial theory of needs :

(i)  Self actualization

(i1)) Basic need

(i1i1)) Physiological needs

(iv) Social needs

Codes :

(A) (i) () (1) (1)

B) (v) (i) (i) ()
© @) (i) (v) ()
D) Gi)) i) (v) ()

Arrange the specific objectives of

concurrent evaluation in order

(i) To identify the strengths and
weaknesses of the project

(i) To suggest corrective and
remedial measures

(iii)) To examine the operational
strategies and implementation

@iv) To identify the factors
responsible for improving the
programme

Codes :

A) (i) () (Gv) (i)
B) () Gi) Gi) (iv)
() Gv) (@) @) (1)

D) i) @@ @G (@)

Pick the correct sequence of growth of
educational and communication
technologies.
(1) Interactive
(iii)) Audio
Codes :

(A) (i) (v) (@) (@)
B) (i) (v) (1) (1)
©) (i) (i) () (@v)
D) i) () @Gv) (@

(i1) Visual
(iv) Audio-visual

38.

39.

Arrange the following list of media in
order in which they are popularly used
in Adult education. Use the codes
given below :

(i) Television

(i1) Print media

(ii1) Radio

(iv) Folk arts, kalajatha

Codes :

(A) Gv) (@) @) (@)
B) (Gv) (@) i) (@)
© Gv) @ ai) (i)

D) Gv) @) @) (i)
Match the terms given in List-I with
terms given in List-II. Use the codes
given below :
List - I List — 11
(a) Traditional (i) Simple charts
method representing a
phrase, a word
and the first
letters of the
same are used
by the instructor.
(b) Alphabetic (ii) Grouping  of
method letters
according to
similarity — of
their shapes.

(¢) Lauback (i11) Letters are
method taught
individually
and then they

are combined
into words to
form sentences.

(d) Synthetic  (iv) Letters having
method similar structure
are grouped on
each page of
the primer.
Codes :

(@ (b) (© (d
(A) (i) () Gv) @)
(B) (v) (i) (1) (i)
©) () Gv) () (i)
D) @ () (i) ((v)




34.

35.

36.

37.

=T ST & fohaaa & %Y % 3MER

W I

()  Hfect TR

(i) HERE SfeTen =™

(iii) TermeRt et

(iv) BN shild

he:

Ay (v) (@ @) (i)

B) Gv) @) () (i)

©) (@v) (@i) @) (@)

D) (Gv) (i) G) @)

SATETIHAT o TGl 1 M, 3Tk Sl

%Y H iR i

() eTeHary

(1) YR AR

(i) R SATeeg e

(iv) THITE STTevaehd

ETE

(A) (i) (i) Q) (@Gv)

B) (Gv) (i) Gi) 1)

©) G (i) Gv) (1)

D) (i) G Gv) @)

HHAMHAS Fodieh o [afens S29at & A

o =it

(i)  URESHT S FESHRET Ta gegdr
YT AT |

(i) Sfoa defeus T wE fAERE
REICE

(i) fFATaE TE WEWE WHIG wH

S|
(iv) ®EFT & IR & ol SWEE
HRhl ! FafeTd T |
E TR
(A) (iid)

@) (v) - ()
B) (@) () (i) (v)
© Gv) (i) (@ai) (1)
D) i) @@ aG) (Gv)

T TS TAR WENRTRl % o e
T A BT

() WEREE™ (i) §9F

(i) w= (iv) SATH

(A) (i) (@(v) () (1)
B) @) @Gv) (1) (D)
(©) (i) @G @@ (@Gv)
(D) Gii) () (Gv) ()

38.

39.

=1 Hifear & STl @ 3T Ui e
HIEAHT T YT ol ATHHEar b9 | et
Hife
() oeffasH
(i) Tixd ATy
(iii) e
(iv) TAheeAT-SherrsTedT
3%
(A) (v) (i) i) (@)
B) (v) @) (i) (@)
© Gv) () (@) (i)
D) @(v) (i) @) (i)
-1 | few o us & gE-n A Rw e
TS ¥ gAferd ST | |9 5T T % @
TIAT I
T -1 el - 11
(a) IR (i) TH ST, Ueh IR
fafy watc s ot T
TAT 3TISTH g 3T
TIHTER T SYATT feham
ST |
(b) STAMTH (i) BB F IMHR
fafy qIEAT & 3TER 3%
e T |
(c)oTat fafer (i) 3R T T - T
T ST § 3R 3TH
T - % e
3= Tafed fwar s
g
(d) TTATUM-  (iv) TaTITehT (TfHeR a1
e fafy TXAh) & T TS T
THM ST ot 3T
T ggfed T |
ETE

@@ (b © (@
(A) (i) (1) @Gv) (1)
(B) Gv) @) (1) (1)
© ) Gv) (@) (i)
D) @ > (@Gi) @v)



40. Match the items given under List-I

41.

(programme) with those in List-II(year
of launching) :

List -1 List — II
(Programme) (Year of
launching)

(i) Gurgaon Experiment (1) 1976
(ii) Etawabh pilot project (2) 1978
(ii1)) National Adult (3) 1920
Education
Programme

(iv) Firka Development (4) 1947
Scheme

Codes :
1) (@) (i) (1v)

A 2 3 GO @&

@ @1 @ @ 3

o 3 @ @ @

O @ @O 3 2

Match the items given under List-I
(Programme) with those in List-1I
(Associated with) and select the correct
answer using the codes given below
the list :

List - I List — 11
(Programme) (Associated
with)
(i) Jan Shikshan 1. All
Nilyam children
(ii) Continuing 2. Dropout
Education Center
(ii1) National Institute 3. Literate
of Open adults
Schooling
(iv) Sarva  Shiksha 4. Neo-literate
Abhiyan adults
Codes :

(i) (@) (ii) @iv)
A 2 4 1 3

@) 1 3 2 1
© 3 1 4 2
D 4 3 2 1

42. The theories and their profounders are

43.

given in List-I and List-II respectively
match them :

List -1 List — I1
(a) Abraham (i) Theory of
Maslow achievement
motivation

(b) C.L.Hull (ii) Theory of
hierarcy of

needs

(c) E.L. (iii) Needs

Thorndite Reduction

theory of
learning

(d) Maceland (iv) Theory of
connectivism

Codes :

(@ (b) (© (@
A) @ @) (i) (@iv)
B) () (i) Gv) @
(©) @) Gv) (@) (D)
(D) Gv) (i) () @)

Match the items given under List-I
(Country) with those under List-1I
(year of literacy campaign) and select
the right answer using the codes given
below the items :

List-1 List — 11
(i) China 1. 1945-77
(i) Vietnam 2. 1950-80
(iii)) Burma 3. 1967-80
(iv) Brazil 4. 1960-80

Codes :

i) @ (@) @v)
A 1 2 4 3
B) 3
<© 4

2 1 4
1 3 2
G 2 3 1 4



40. g1 (FIEHT) B G-I (FE HT ST FH

41.

) T G T
e -1 T - 11
(HTEHH) e fopg
T T W)
(i) TS ST (1)1976
(i) T U (2)1978
RIS
(iii) TeEFT o Feretm (3) 1920
HTIHH
(iv) Tt foema AT (4) 1947
E
i) () (i) @Gv)
A2 3 @O @D
@ @ 2 @ 3
< 3 @®H @ M
O @ @O 3 2@
FeAl-1 <l H&T (FrEhH) H G-I AR
(GIfere i) o T Gaferd SifsTe qer &
[ % 9K KT T F& F W OIW
9T
e -1 = - 11
(PTEEHH) (Wiferet eftm)
() 9 Wenfeem 1 i E=
(i) @ forem s ). former B
T =
(iif) TSR e 3. WER e
IERIGRIEREIE)
(iv) 9d forem = 4. 99901
e
ETE

@® () () (@Gv)

A 2 4 1
@) 1 3 2
© 3 1 4
D) 4 3 2

3

1
2
1

42. Togra wd wiquEel & W gLl T

43.

gL | 53 T E 5% foeed
el -1 T - 11
(a) STSTEH TG (i) 2RI 3H
e
BIcichE]
(b) . TA. BT (ii) AR 3
TRt &
Trew
(c) 3. T, (iii) Tred fewm
qHeRE R 3T AT
(d) HheATvS (iv) & 3T
FrAfrefasn
E3E
(@ ) (© (@
(A) (@) @G (D) (@iv)
B) @) (i) 3Gv) (@
© @iy @Gv) @ (@)

D) Gv) @G () @

gl § fod 3 <o B g § &
HIERAT AN & a6t o Hed @ ™
el P TRl I BT

Tl -1 T - 11
(i) == 1. 1945 - 77
(ii) To=aamg 2. 1950 - 80
(iii) =T 3. 1967 - 80
(iv) STt 4. 1960 - 80
ETE

@ () G @Gv)
A 1 2 4 3
B 3 2 1 4
@ 4 1 3 2
@ 2 3 1 4



44. Match the items given under List-I
(States) with those in List-II (Literacy
ranking) according to 2001 census and
select the correct answer using the
codes given below the list :

List -1 List - II

(States) (Literacy rank)
(i) Goa 1
(i1) Mizoram 2
(ii1) Kerala 3
(iv) Delhi 4
Codes :

(i) (@) (i) @v)
A1 3 4 2
B) 3 2 1 4
< 4 1 3 2
D) 3 1 2 4

45. Match the items given under List-I
(Training) with those under List-II
(activity under taken) and select the
right answer using the codes given
below the items :

List -1 List - II
(Training phase) (Activity)
(i) Need . Follow up
(i1) Pre training 2. Planning
(ii1) Training 3. Implementing
(iv) Post Training 4. Assessment

Codes :
() (@) (i) (@v)
(A) 3 1 2 4

3 1 2 3 4
<o 4 2 3 1
® 2 3 1 4

Read the passage given below and answer
the questions that followed based on your
understanding of the passage (Q. 46-50) :
Education of the adults can be of different
kind. For those who did not or could not get
themselves educated while they were young
and who now realise the need for education
to joint adult education centers. There was a
time when only a few who belonged to the
higher strata of the society were allowed to
attend schools. Many dropped out of the
schools due to condition beyond their control
and relapsed into illiteracy in due course,
some others were pushed out by the faulty
methods adopted by the teachers. They too
became illiterates as time passed. These
adults need education, rather literacy to
begin with and if necessary continue
education to keep abreast of the times. This
is adult education in India.

Paper-1I

14

46.

47.

48.

49.

50.

The author of the paragraph is
presenting
(A) A very coherent argument

(B)
©
D)

A very convoluted argument
A very inconsistent argument

An unwarranted argument

Students dropped out of the schools in
India because of

(A) The conditions unfamiliar to

them
B)
©
(D)

Methodology alien to them
All of the above

None of the above

The writer focussed and stressed on the
target groups of

(A) School children

(B) Adult learner

(C) Out of school youth
(D) Rural youth

The whole passage emphasises the
importance of

(A) Educating the adults

(B) Education the school drop-outs
(C) Educating the pushed out

(D) All the above

According to author who‘become
illiterates’ as time passed :

(A) Adult learner

(B) Learners pushed out

(C) Noone

(D) People from higher strata of

society

J-46-12



44.

45.

SERTOET 2001 3 AR G-I (54T 3R
ALl (TR ) G E | F w
TErIdT 9 Tel fHe it

TR -1 T - 11

(3T (RTERAT ¥e6)
(i) Tmem 1
(i) TeRm
(iii) A
(iv) TEoet

E-NERVS I ]

1 Gy ) 1)

1 3 4 2

B) 3 2 1 4

< 4 1 3 2

D 3 1 2 4

Tell-1 | (wfereron) & fafy= = fe8 ™ €
qAT FA-11 H WRTRI0T =R i (Atateran)
M E | B B wEE § TE e
FHif

T - 11

T -1 |

(ufsrerom) WGIEIERD)
(i) STervashar 1. ST SrIaTer
(i) T MTSTeTOT 2. AT
(iii) TreTeTOT 3. Topaomm
(iv) T9OTT ARTETOT 4. oA
E

(i) (i) (i) (iv)
A 3 1 2 4
B) 1 2 3 4

D)y 2 3 1 4
FfeiEd 3TeT i UgahT 370! TFel |
< ™ T (46-50) F TehcaH IT |
TE ST B =TI RIS

YTt i 78Tl o s TR & | AT
AT T S AT I o S § aite
B S & T oI B W Ue STEvEehal
= FEE g4 Foren i Wy o € ¥©
T fored o STl S ¥ |

TH GHE A1 Sd T AT & I
o1 9% wEw U o | i el ST
13T o HRON | FS TG I el AT

46.

47.

48.

49.

50.

J-46-12
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BIE I & 5 oA S A & 30 & FS
Toretent @ Jfe qUT FTRR & HROT Tl |
ART & A E | A A AT AR § G
el = Ao § e S €

T Tt T TIRI T STevEe B
T | T Sy G ¥ g gad
fore Ak STar € AIfer 3 THEER ST
U WAUT T Toh T UHR i 19181
qRA | Tig 9181 & SF=ia 3Tl & |

ST WS H oEd FN faug
AT % TRl e | e € g 0
(A) THYITE |

(B) FARIFHH TEE |

(C) &afoTe ¥ |

(D) FTHIIE |

RA & Tpoll § I 33 Al qHET I
HROT & — BT

(A) 3Tk foT et aRfeert

(B) @RIl T ST

(C) sugH it

(D) 9 A ¥ HiE A &l

3T | oiE® R 0 ¥ ¥ 6y a1
THE TR 3T ST hisd Bl & 2

(A) Tl =

(B) g wferamit

(C) Toamed & 9l & S

(D) wrHroT Fam

USRI ST T Hewd JET &

(A) gt i TgHT

(B) 3T 1S (Wpel) T Tl

(C) e ¥ o fohd T8 @M i TgT
(D) s &t

3T % TEH % AR UgTE Bigd W
I ARt H: FRER a7 S § 2

(A) i Fererreft

(B) UerE ¥ aEY fopar mar

(C) e T

(D) HAS & 3T N AR
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